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HAIGAZIAN UNIVERSITY
FACULTY OF BUSINESS ADMINISTRATION AND ECONOMICS
Eco 231 -EcoNoMmIcC STATISTICS |
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NAME: D:

INSTRUCTOR: O Ms. Joumana Tannous TIME: 1 HOURS lg'mms

INSTRUCTIONS: PLEASE WRITE YOUR NAME AND 1D NUMBER AND TICK THE SECTION TO
WHICH YOU BELONG.

ANYONE CAUGHT CHEATING WILL AUTOMATICALLY GET HIS COPY REMOVED AND WILL
GET ZERO.

This exam consists of 8 pages, including 2 parts: 4 problems and 5 multiple choice
questions. Check that none are missing. Answer the questions in the space provided for
each problem; if more space is needed, you may use the back pages. Rough work can be
done on the back pages. To receive full credits, you have to justify your answers.

Goop Luck!
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PART I: Solve the following 4 problems in the space provided for each

1. State for each of the following 10 variables what is its type and its level of

measurement,
Variables Type Level of measurement

Students 1Q rate. aﬂ

' ] o) -
Distance students travel to class. ,

ks

The jersey number of a sorority . ‘& P
soccer team. Yigrrvam
A classification of the student by . Aﬂ
state of birth. ) VLa A gl
A ranking of students as ‘
freshman, sophomore... mpﬂ =
Number of hour’s students study )
per week. ke e
The departments, such as
editorial, advertising, sports. ‘ WU{/Q G
The classification of six colours
of M&M’s. ‘(\afww-&lﬂ 7
Rating of a professor, superior, .
good, average, poor, inferior. (?‘tabmﬂp el
Dress size. - > (ﬁ /

-5

2. The return on investment earned by Atkins Construction Company for four
successive years was 30%, 20%, -40% and 200%.
What is the geometric mean rate of return on the investment?

H

R oT = WU.ZX@'O*HX’Z = 04630
T
_9

S
.9
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3. Six students in Haigazian, were asked to study the average number of money
students carried on them per day in Lebanese pounds.
They randomly selected a sample of 40 students and collected the following data:

y's 45 000 83000 35000 45 600
50,000 50.000 égtm 65000 704000
125000 130000 mp«duu 145600 160000
75600 80.600 90-600 90-600
1607000 160600 165 210000 2154100
9;,9013 101000 lgmm 103800 116600

1224000 1257000 17500 1254000
222 /oon 250,000 261,400 2701600 371000

A. The first decided to study the data grouped. (Parts a. to c. are related to the group the

data only)

a. Constructed the following Frequency Distribution ,E g Pe

3 n

ﬁ%mew?) 'Ftrﬁ 5 tadends, C.F p.p. R.E. —31E:>l?h

£-¢

[o; 626001 g 8 [3leee [Z0% .
(TYhoe LYy 222|930 26 (= $7leos~0O
L62689; ja346 & : C

El 4 TuD ;ggonﬁt

| 33 18600 (272G R 3N

l
[{Egm.?tiaaﬂﬁ 3 3-@ 2[?::;:3 ‘?-(-)}“". é:{?u¢b¥
3 "

_.-——_'__-__-__

|2"18¢d° ) ;i{)d-#

/ |39 [273000]7.62.

B\ndao 3'42%@[! }' \/ LiD gHiﬂﬁu l-z-'@:/',

/i

10 b. Find the fullm\iing:/ L-/ (/
Mean

Xz é?m = 127 loe wali
N aw)taff_ m&xvﬁw ‘Jhm%wlﬁdj?eca}ﬁvamg

Standard deviation (27,100 wny A /

sg—573( 5\)@ 78,109 65wk

Tg\e Jansiakion g{w\ e awallage Crean )
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Median /%C] '_____T?.l__:__h__f.:m :ﬁ%whqu

2&—‘3\ (o L {zZoou,lt ool
X 00 o

e didwn = é?oau-{-(
Y4
1S 2.9 / L/’/d;}gﬁkﬁce

The 3" decile _ —
Q.gm,\m“: Yoxolozs |2

-,-::bfﬂm&t.imw:

[-é E’C’bo, |'1‘-|adu{

]

Dz = é?oao+(u_‘§-)x€2¢*ﬂu

Iy ;
= ?Ci'} ?“‘J.Zlﬁ (/ <enenc e - ZL

The 85" percentile :
focakion= 4o x 086 = 34 “-“’LQQ"‘TL-"ﬁggau,ZHi“bg
Pas = Blooo +(EL’_;3_E.) x (2000 = 206,667

Semnrence
2 < o daralh c. Represent this data graphically by drawing a polygone frequency and an Ogive = / >
) % and comment on the graphs.
Title: T J'€quam g\q% rglfq M%“W‘-& QU s budenf (ﬁ‘éﬁ!ﬂﬁé\

\ “Y ; o chhel
G

Yy

5 - "~

i Vd \\

L4

___..-""

? / \\ {: el

2 r

L LY |

! /

2

. — | 3
4] e (26, 1w I?t'an;”"“-l Rhose X7 ?'-r'Ewu;-.:“L;{II-LnT...;.. “3eay "11""4“'*5&':.

M%u&( §|I'M-olﬁn\k7\ a.kli‘(’l‘l Mim\f&#ﬂfbog'ﬂb\m b
62 coo omd 24000 (im‘gﬂﬁ)f %"“‘1‘@*‘-‘) o bg\e % dinkhudubia
i Yoty chewed . rad Gk of By stucdonds o o i
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el s Gurmalive e quoncy (o) fr Y amoephmiy o sficely

(v
'\JflLL

Ili:' '/
L7
{ Tose | 2V

we Shave 'SWbNg ﬁﬁ'bcybuﬁ“ bgkpm £2 ooo sad man.:

mi-l &zkw&u (ZY oo ,-,a'mcL | R6ooo /

B. Then one of the students wanted to give as much details as possible and used the row
data, (Parts d. to f. are related to the row data only)

=

Here is the same data again

0 45 000 83 000 35000 45 000

. 50 000 50 000 60 000 65 000 70 000
125 000 130 000 140 000 145 000 160 000

75000 80 000 30 000 90 000 90 000

160 000 160 000 165 000 210000 215 000

93 000 101 000 102 000 103 000 110 000

115 000 122 000 125 000 125 000 125 000

222 000 250 000 261 000 270 000 371 000

d. Find the mean number of minutes students study a week.
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1{"{;.
o @, .  Find the median number of minutes students study a week.
J ngah-ﬁ"‘\ - I\__ﬂ = 1\ - 2o0. %)
/ ~ediom = 110 000 +(11G 600 —lioess) x 0.5 (11e pao, 11 fho0. )
= H2%c0 k- ﬂmh,}jfa% 0ashk b bigfsk on bucch
P . Find the mode number of minutes students study a week. (Foumgma pcpe L

'i.Eﬂ WOLG w |1Go00 (rark [\,m.aah s o didbuibukion
an itk Kian Yo bigok” fre quancy” £ m.}\wm-;:uﬁae ¢ Tefeated

o ke (4 timey) Eg/
4. The following Frequency Distribution represents tfie number of minute’s students

study before an exam.

Number of minutes Frequency. %E‘f“'g wleudls.
Less then 30 2 tc
30 up to 60 5 o
60 up to 120 14 £
120 up to 150 8 28
150 up to 270 8 120
270 up to 330 2 La
330 up to 420 1 9o

Represent this data graphically by drawing a histogram and pie chart and comment after
each graph. Use the space below for your explanation.
- (ke sy of mbeancld i

Tof rinades | Erequnoy | Rop. | R.F Y degle
(0560 | 2 Ao |17 e | Teke
[Go3 1200 | 1y [ 40 |32 |i2c®
J126; L8 oY
J180; 2ol
1240 ; 3001
(30053601

gGOJ Lol

[ Ho } (maz $Geo
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PART II: Please circle the best answer for the following 5 Multiple Choice Questions.
1. According to Chebyshev’s Theorem, what percent of the observations lie
within plus and minus 1.25 standard deviations of the mean?

© 95% @ 64%
© 92.5% © 100%

_ Cannot compute it depends on the shape of the distribution
b © ) None of the above

2. The following box plot is not scaled. Find the missing number marked by a

question mark.

10 ? 80 98 120 140
. - |
|
© 60 © Cannot be computed, need
20 more information
© 45 © None of the above

Use the following information to answer the following 3 questions:
The table lists the 1989 profits (in millions of dollars) for a sample of seven airlines.

Airline Profit/Loss
Continental 3
Eastern -852
Morthwest 334
Pan Am -414
TWA -298
United 358

3. Calculate the range of the data set.

1,210 millions of § © - 848 millions of $
494 millions of § © None of the above
& © 855 millions of
4. Calculate the 3" quartile.
334 millions of $ @ 355.75 millions of $
/343.25 millions of $ © None of the above
"2,7 @/\54{] millions of $
/ 5. Calculate the 63" percentile.

@ 165.5 millions of §
165.91millions of $

A C@}’ 138.7 Imillions of $

4.41 millions of $
None of the above

©0



